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NEET MICRO TEST 6 (16.11.2024)    20x4=80 MARKS 

It means 

1) all living organisms are composed of cells 

2) each cell has organelles that function in 

coordinated manner 

3) all cells arise from pre-existing cells 

4) activities of organisms arc the result of it's 

constituent cells 

 

2. Generally, in prokaryotes the genetic material is 

1) linear dsDNA without histones 

2) Circular dsDNA without histones 

3) Linear dsDNA with histones 

4) Circular ssDNA with histones 

 

3. Select the incorrect statement w.r.t various layers 

of cell envelope in bacterial cells. 

1) The outermost layer determines the shape of 

cells 

2) Glycocalyx is outer to cell wall 

3) Glycocalyx can be seen either in the form of 

slime layer or capsule in different types of 

bacteria 

4) Cell wall is made of peptidoglycan 

 

4. Find out a, b, c in given diagram. 

 
1) A-Sugar, B-Protein, C-Cholesterol 

2) A-Sugar, B-Cholesterol, C-Protein 

3) A-Protein, B-Sugar, C-Lipid 

4) A-Peripheral protein, B-Sugar, C-Integral 

protein 

5. Store house of the plant cells are 

1) Lysosomes 

2) Vacuoles 

3) Ribosomes 

4) Mitochondria  

 

1. Rudolf Virchow "Ominis cellula e cellula" vd;W 

$wpdhu;. ,jd; nghUs; 
1) midj;J capupdq;fSk; nry;fshy; 

Mdit 

2) xt;nthU nry;ypYk; xUq;fpize;j 
Kiwapy; nray;gLk; cWg;Gfs; cs;sd 

3) midj;J nry;;fSk; Vw;fdNt ,Uf;Fk; 
capuZf;fspypUe;J vOfpd;wd 

4) capupdq;fspd; nray;ghLfs; mjd; cWg;G 
nry;;fspd; tpisthFk; 

 

2. nghJthf> GNuhfhupNahl;fspy; kugZg; nghUs; 
1) `p];Nlhd;fs; ,y;yhj Neuhd dsDNA 

2) `p];Nlhd;fs; ,y;yhj tl;l dsDNA 

3) `p];Nlhd;fSld; $ba Neuhd dsDNA 

4) `p];Nlhd;fSld; $ba tl;l ssDNA 
 

3. ghf;Bupah nry;;fspy; cs;s nry; ciwapd; 
gy;NtW mLf;Ffspy; jtwhd $w;iwj; 
Nju;e;njLf;fTk;. 
1) ntspg;Gw mLf;F nry;fspd; tbtj;ij 

jPu;khdpf;fpwJ 

2) fpisNfhfhypf;]; nry; RtUf;F ntspNa 
cs;sJ 

3) fpisNfhfhypf;]; gy;NtW tifahd 
ghf;Bupahf;fspy; ];iyk; mLf;F my;yJ 

ciw tbtpy; fhzg;gLfpwJ. 

4) nry; Rtu; ngg;bNlhf;spfhdhy; MdJ 
 

4. nfhLf;fg;gl;l tiuglj;jpy; a, b, c Mfpatw;iwf; 
fz;lwpaTk;. 

 
1) A-ru;f;fiu, B-Gujk;, C-nfhy];l;uhy; 
2) A-ru;f;fiu, B-nfhy];l;uhy;, C-Gujk; 
3) A-Gujk;, B-ru;f;fiu, C-ypg;gpl; 
4) A-ntspg;Gw Gujk;, B-ru;f;fiu, C-

xUq;fpize;j Gujk; 
 

5. jhtu nry;fspy; nry;ypd; Mw;wy; ehzak; 
vdg;gLtJ 

1) iyNrhNrhk;fs; 2) thf;FNthy;fs; 
3) iuNghNrhk;fs;  4) ikl;Nlhfhz;l;upah  

Botany: Cell: The Unit of Life, Zoology: Excretory products & their elimination 

Chemistry: Equilibrium, Physics: System of Particles & Rotational Motion 

1. Rudolf Virchow stated "Ominis cellula e cellula". 

NEET, JEE, CA, TUITION 

ERODE – 12, CONTACT: 9500939789 

www.Padasalai.Net                                                                     www.Trb Tnpsc.Com

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com

www.P
ad

as
al

ai
.N

et

www.P
ad

as
al

ai
.N

et

https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m


..

2 

6. Choose the incorrect statement. 

1) The descending limb of loop of Henle is 

completely impermeable to electrolytes but 

almost permeable to water. 

2) Secretion of H+ and absorption of HCO3
− is 

mainly responsible for acid-base balance by 

the renal tubules. 

3) In spite of presence of ADH, maximum 

reabsorption of water occurs in PCT. 

4) Potassium ions are reabsorbed as well as 

secreted in PCT. 

 

7. Which of the following substances present in 

glomerular filtrate are absorbed mainly by 

passive transport? 

1) Glucose 

2) Amino acids 

3) Na+ 

4) Nitrogenous wastes 

 

8. Select the event involved in micturition in man 

from the options given below. 

1) Contraction of external urethral sphincter 

2) Contraction of smooth muscles of urinary 

bladder 

3) Contraction of internal urethral sphincter 

4) Relaxation of urinary bladder 

 

9. Renal tubule begins with 

1) Glomerulus 

2) Bowman’s capsule 

3) PCT 

4) Loop of Henle 

 

10. Match the animals in column-I with their main 

excretory product in column-II. 

Column I Column II 

a) Sponges, Hydra, Bony fishes i) Urea 

b) Frog, humans, cartilaginous 

fishes 

ii) Ammonia  

c) Lizards, snakes, insects iii) Uric acid 

Choose the option with all correct match. 

1) a(i), b(ii), c(iii) 

2) a(iii), b(ii), c(i) 

3) a(ii), b(iii), c(i) 

4) a(ii), b(i), c(iii) 

 

 

6. jtwhd $w;iwj; Nju;e;njLf;fTk;. 
1) n`d;Nytpd; tisaj;jpd; ,wq;F cWg;G 

vyf;l;Nuhiyl;LfSf;F Kw;wpYk; CLUt 
KbahjJ> Mdhy; fpl;lj;jl;l jz;zPUf;F 

CLUtf;$baJ. 

2) H+ ,d; Rug;G kw;Wk; HCO3
− I cwpQ;Rjy; 

Mfpait rpWePuff; Foha;fshy; mkpy-fhu 
mbg;gil rkepiyf;F Kf;fpakhf 

nghWg;ghFk;. 
3) ADH ,Ue;jNghjpYk;> mz;ik RUz;l 

Foypy; ePupd; mjpfgl;r kWcUthf;fk; 
Vw;gLfpwJ. 

4) nghl;lhrpak; madpfs; kPz;Lk; cwpQ;rg;gl;L 

mz;ik RUz;l Foypy; Ruf;fg;gLfpd;wd. 

 

7. FNshkUyu; tbfl;Ljypy; cs;s gpd;tUk; 
nghUl;fspy; vJ Kf;fpakhf nrayw;w 

flj;jyhy; cwpQ;rg;gLfpwJ? 

1) FSf;Nfh]; 
2) mkpNdh mkpyq;fs; 
3) Na+ 

4) iel;u[d; fopTfs; 
 

8. fPNo nfhLf;fg;gl;Ls;sitfspypUe;J kdpjdpy; 
rpWePu; fopf;Fk; epfo;itj; Nju;e;njLf;fTk;. 
1) ntspg;Gw rpWePu;f;Fohapd; RUf;fk; 
2) rpWePu;g;igapd; nkd;ikahd jirfspd; 

RUf;fk; 
3) cs; rpWePu;g;ig RUf;fk; 
4) rpWePu;g;igapd; jsu;T 

 

9. rpWePuff; Foha; ___ cld; njhlq;FfpwJ 

1) fpshkUy]; 
2) ngskhdpd; fpz;zk; 
3) PCT 

4) n`d;Ny tisT 

 

10. tpyq;Ffis mtw;wpd; Kf;fpa fopTePf;f 
nghUs;fSld; nghUj;jTk;. 

Column I Column II 

a) flw;ghrpfs;> i`l;uh> 
vYk;G kPd;fs; 

i) A+upah 

b) jtis> kdpju;fs;> 
FUj;njYk;G kPd;fs; 

ii) mk;Nkhdpah 

c) gy;ypfs;> ghk;Gfs;> 
G+r;rpfs; 

iii) A+upf; mkpyk; 

rupahdijj; Nju;T nra;aTk;. 
1) a(i), b(ii), c(iii) 

2) a(iii), b(ii), c(i) 

3) a(ii), b(iii), c(i) 

4) a(ii), b(i), c(iii) 
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11. pH of 10–8 M HCl is [log 1.1 = 0.02] 

1) 7 

2) 8 

3) 6.98 

4) 1.1 x 10–7 

 

12. Solubility of AB3 is 1 x 10–5, its solubility 

product is 

1) 2.7 x 10–30 

2) 2.7 x 10–19 

3) 2.7 x 10–21 

4) 1 x 10–20 

 

13. Which is not a Lewis acid 

1) SnCl2 

2) AlCl3 

3) SiCl4 

4) CCl4 

 

14. Assertion (A): Order of acidic strength is CH4 < 

NH3 < H2O < HF 

Reason (R): As the electronegativity of central 

atom increases, the strength of the acid also 

increases (Across the period) 

1) Both (A) and (R) are true and the (R) is a 

correct explanation of the (A) 

2) Both (A) and (R) are true but (R) is not a 

correct explanation of the (A) 

3) (A) is true but the (R) is false 

4) Both (A) and (R) are false 

 

15. Match the following 

salt formula 

A) CH3COONa 
i) pH = 𝑝

𝑘𝑤

2  

B) NH4Cl ii) pH = 7 + ½ (pka – pkb) 

C) CH3COONH4 iii) kh = 
kw

kb
 

D) NaCl 
 iv) h = √

kw

ka × C
 

1) A–iii, B–iv, C–ii, D–i 

2) A–iv, B–iii, C–ii, D–i 

3) A–i, B–iv, C–ii, D–iii 

4) A–i, B–ii, C–iii, D–iv 

 

16. Two persons of masses 55 kg and 65 kg 

respectively, are at the opposite ends of a boat. 

The length of the boat is 3.0 m and weighs 100 

kg. The 55 kg man walks up to the 65 kg man 

and sits with him. If the boat is in still water the 

centre of mass of the system shifts by 

1) 3.0 m 

2) 2.3 m 

3) zero 

4) 0.75 m 

 

11. 10–8 M HCl ,d; pH kjpg;G [log 1.1 = 0.02] 

1) 7 

2) 8 

3) 6.98 

4) 1.1 x 10–7 
 

12. AB3 ,d; fiujpwd; 1 x 10–5MFk;> mjd; 
fiujpwd; ngUf;fk; 
1) 2.7 x 10–30 

2) 2.7 x 10–19 

3) 2.7 x 10–21 

4) 1 x 10–20 
 

13. ,J Y}ap]; mkpyk; my;y 

1) SnCl2 

2) AlCl3 

3) SiCl4 

4) CCl4 
 

14. $w;W (A): mkpy typikapd; tupir CH4 < NH3 

< H2O < HF 

fhuzk; (R): ika mZtpd; vyf;l;uhd; 
fth;jpwd; mjpfupf;Fk; NghJ> mkpyj;jpd; 
typikAk; mjpfupf;fpwJ (thpir KOtJk;) 
1) (A) kw;Wk; (R) ,uz;Lk; rhp kw;Wk; (R) vd;gJ 

(A) ,d; rupahd tpsf;fkhFk;. 
2) (A) kw;Wk; (R) ,uz;Lk; rhp jhd; Mdhy; (R) 

vd;gJ (A) ,d; rupahd tpsf;fk; my;y 

3) (A) rhp Mdhy; (R) jtwhdJ 

4) (A) kw;Wk; (R) ,uz;Lk; jtwhdit 
 

15. gpd;tUtdtw;iwg; nghUj;jTk; 
salt formula 

A) CH3COONa 
i) pH = 𝑝

𝑘𝑤

2  

B) NH4Cl ii) pH = 7 + ½ (pka – pkb) 

C) CH3COONH4 iii) kh = 
kw

kb
 

D) NaCl 
 iv) h = √

kw

ka × C
 

1) A–iii, B–iv, C–ii, D–i 

2) A–iv, B–iii, C–ii, D–i 

3) A–i, B–iv, C–ii, D–iii 

4) A–i, B–ii, C–iii, D–iv 
 

16. xU glfpd; vjpu; Kidfspy; KiwNa 55 kg 

kw;Wk; 65 kg vilAs;s ,Utu; cs;sdu;. 
glfpd; ePsk; 3.0 m kw;Wk; 100 kg vil 

nfhz;lJ. 55 kg vilAs;s kdpju; 65 kg 
vilAs;s kdpjuplk; ele;J nrd;W mtUld; 
mku;e;jpUf;fpwhu;. glF mikjpahd ePupy; 
,Ue;jhy;> mikg;gpd; ika epiw ___ My; 
khWfpwJ 

1) 3.0 m 

2) 2.3 m 

3) zero 

4) 0.75 m  
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17. A solid sphere of mass M and radius R rotates 

about an axis passing through its centre making 

600 rpm. Its kinetic energy of rotation is 

1) 2/5 π2 MR2 

2) 2/5 πMR2 

3) 80 π2 MR2 

4) 80 πMR2 

 

18. If the earth were to suddenly contract to 1th /n of 

its present radius without any change in its mass, 

the duration of the new day will be nearly  

1) 
24

𝑛
 hr 

2) 24 nhr 

3) 
24

𝑛2 hr 

4) 24 n2hr 

 

19. The ratio of the accelerations for a solid sphere 

(mass m and radius R) rolling down an inclined 

of angle θ without slipping and slipping down the 

incline without rolling is 

1) 5 : 7 

2) 2 : 3 

3) 2 : 5 

4) 7 : 5 

 

20. Two bodies of mass 10 kg and 2 kg are moving 

with velocities 2𝑖̂ – 7𝑗̂ + 3𝑘̂ and –10𝑖̂ +35𝑗̂ –3𝑘̂ 

m/s respectively. The velocity of their centre of 

mass is 

1) 2𝑖̂ m/s 

2) 2𝑘̂ m/s 

3) (2𝑗̂ + 2𝑘̂) m/s 

4) (2𝑖̂ + 2𝑗̂ + 2𝑘̂) m/s 

 

 

17. M kw;Wk; Muk; R ,d; jpz;kf; Nfhsk; mjd; 
ikaj;jpd; topahfr; nry;Yk; mr;rpy; 600 rpm 

Mfr; Roy;fpwJ. mjd; Row;rpapd; ,af;f 
Mw;wy; 
1) 2/5 π2 MR2 

2) 2/5 πMR2 

3) 80 π2 MR2 

4) 80 πMR2 

 

18. G+kp mjd; ntF[dj;jpy; ve;j khw;wKk; 
,y;yhky; jpBnud mjd; jw;Nghija Muk; 1 /n 
f;F RUq;fpdhy;> Gjpa ehspd; fhyk; fpl;lj;jl;l 

1) 
24

𝑛
 hr 

2) 24 nhr 

3) 
24

𝑛2 hr 

4) 24 n2hr 

 

19. xU jpz;kf; Nfhsj;jpw;fhd KLf;fq;fspd; 
tpfpjk; (epiw m kw;Wk; Muk; R) rha;e;j 

Nfhzj;jpy; θ eOtyw;w kw;Wk; eOtYld; 
$ba cUSjYf;fhd tpfpjk; 
1) 5 : 7 

2) 2 : 3 

3) 2 : 5 

4) 7 : 5 

 

20. 10 kg kw;Wk; 2 kg epiw nfhz;l ,uz;L 

cly;fs; KiwNa 2𝑖̂ – 7𝑗̂ + 3𝑘̂ kw;Wk; –10𝑖̂ +35𝑗̂ 

–3𝑘̂ m/s Ntfj;Jld; efu;fpd;wd. mtw;wpd; 
epiw ikaj;jpd; Ntfk; 
1) 2𝑖̂ m/s 

2) 2𝑘̂ m/s 

3) (2𝑗̂ + 2𝑘̂) m/s 

4) (2𝑖̂ + 2𝑗̂ + 2𝑘̂) m/s 
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